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e | B e was | SEP | RAD FEER TEP | an | zom| s
eI 10 10 15 5 10 5 5 60
BT 3 2 2 2 1 10
BA™ 1 1
Ehh 1 2 1 1 5
Hilm 20 20 10 5 5 5 5 5 5 80
F=Em 10 2 3 2 3 1 4 25
Hollsm 4 2 2 5 4 1 2 20
aHH 1 1 1 1 4
MDOBLEH] 2 1 3
JLEE LLIET 2 2
= FrET 15 15 5 1 5 2 2 5 50
iR ET 5 5 2 3 15
[T 1 1 2
EH)IET 1 1 1 4 7
R HT 1 1 2
AT ET 3 1 1 3 1 1 10
HS)IIET 2 1 5 1 1 10
=Py 20 20 15 2 3 4 1 3 12 80
I SAHT 1 1 1 3
AR ES B R T 20 4 15 2 9 3 1 2 4 60
A HhET 5 1 4 5 15
T FE 1| BT 2 2 4
Je L4t 2 2
R AN HT 10 3 6 8 1 2 30
&t 138 77 84 23 56 47 18 35 22 500







